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1 D BHEMIAR 98.8 98.1 100.0 98.2 65.0

Pl @ sk = 98.5 99.6 98.6 97.1 55.0
Bl O mmmnxye = 97.7 96.8 98.1 98.4 57.5
U Dmamnxy 97.5 97.4 97.8 97.4 57.5
N @ mEscy : 97.4 95.3 98.4 986 57.5
1 @ emRxy % 97.1 96.7 96.6 97.9 60.0
¥ D mmEExy 96.6 97.2 93.4 989 57.5
@ mmRuxy = 96.2 94.3 98.7 95.9 60.0
O AT 2P 955 96.4 97.0 93.2 625
) @ xmzmrxy = 94.9 951 92.8 97.0 55.0
7 @ mamsxy 94.9 90.6 955 97.7 55.0
P O wEmnxe = 94.8 958 90.2 98.8 55.0
i @ Baxy s 945 92.7 93.1 97.4 525
1 @ mmxy = 94.0 836 96.8 985 55.0
U @ mmEnxy = 940 91.1 97.3 926 65.0
I @ k=X % 93.4 935 89.4 97.0 60.0
I D mkERERAY = 93.3 89.3 91.6 986 45.0
] @ smsxs % 92.8 925 935 92.4 60.0
L @ sEmnxy = 92.3 92.4 90.6 93.7 65.0
Hi] @ mmx = 90.2 94.0 88.0 89.2 57.5



